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Question #2

Isotopes | Half-life (y) | Activity @ t=0 | Activity @ t=2

3H 12.300000 4.90E+14 4.38E+14
85Kr 10.700000 2.80E+16 2.46E+16
89Sr 0.139720 2.70E+18 1.33E+14
90Sr 28.900000 2.00E+17 1.91E+17
20Y 0.007360 2.00E+17 3.16E-65
91Y 0.161000 3.60E+18 6.56E+14
99Mo 0.182500 4.40E+18 2.21E+15
1311 0.022100 3.10E+18 1.77E-09
133Xe 0.014520 6.00E+18 2.06E-23
134Cs 2.060000 6.70E+16 3.42E+16
132Te 0.008904 3.80E+18 9.18E-50
133l 0.056986 2.40E+18 6.53E+07
140Ba 0.035616 5.10E+18 6.36E+01
140La 0.004589 5.40E+18 3.44E-113
144Ce 0.778100 3.90E+18 6.57E+17

Sums 55.371395 4.09E+019 9.09E+017
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